IR

TH6FE
AT ERALZEHFMTEEIRTERF X (EE)

BEDOAER

XAYSERIE, PEHRABRERLUNDEDEMNEZECHEENHAH=H. T O—FETEAXITEA
[2HFE5—RFRABICRYLEDEL, FEREBICRLTTE=ZZE~DRBITHIZITOENIE,




THE6EE ZHERLTEBNTEERITERNES (EH)

B E %
£ b3 g - TE Bifsy HE B &% HE
[E#E#E] 3,233,410
4,643,910~ 1,410,500
EEAGE 3,225,600
4,636.100| v 1.410,500
1 ERERHENARORE &Et = 1 921,600 921,600
T HINEEORBE it = 0 0 0
1 1.410.500 1,410,500/ ¥ 1,410,500
2 ZEE-BREELRHOEMEZE Et = 1 384,000 384,000
3 REIRDELE &Et R 1 1,305,600 1,305,600
ABEIBHOHEE &Et =® 1 307,200 307,200
5 A A=V I—XDIERK EREt =R 1 307,200 307,200
HAEE 7,810
6 PUBDISE &1 =® 1 7,810 7,810
[FE#%E] 4,556,590
6.556,090 1.999.500
R 3,540,526
5095719}V 1,555,193
RiTHEESE 1,016,064
1.460.371[/ 444,307
E 3T 3,233,410 + 4,556,590 7,790,000
4643910 + 5.556.090 11,200.000] v/ 3.410,000
BB EiE NS 7,790,000 X 10.0% 779,000
11,200,000 X 10.0% 1.120,000] v/ 341.000
BEEHBERREH 8,569,000
12,320.000] ~ 3,751,000

BER—1

LB REHE. TR-EERHE




R &

[(EEAHGE]
1 REfEfR/NAEDO®E EED
B W IRtk B | %= B {f + %8
HEh (C) ERET A 24 38,400 921,600
& &t 921,600 921,600
7 BINEEDBE Y 1HHY
% F oAk~ i& B | %8 B {f £ %
B (C) v B AY 35|V 40,300 1,410,500
& &t 1,410,500/ , 1,410,500}/
2 ZEE-BREERIEDEBMERE 1KLY
% F KTk B = B {f + %8
Hikfi (C) ) EREt A 10 38,400 384,000
& & 384,000 384,000
3 SRETHDIBIE e
% W IRk B = H {f & %8
HiEf (C) B A 34 38,400 1,305,600
& F 1,305,600 1,305,600
ABETIEENDETE 1KLY
% T KTk B | = H i + %8
HiEh (C) ERE A 8 38,400 307,200
& &t 307,200 307,200
5 A A= IN—RADERK 1 KHY
% T K=&k B | %= =i & %8
6l (C) EREt A 8 38,400 307,200
& &t 307,200 307,200
[FRlEE]
6 PUBDIS & %% 1 RHY
% W Rkt B | = B {f + %8
(BN TEFH i 1 7,810 7,810
& i 7,810 7,810

fKifE — 1
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